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BBIHECEHHE OOLIEr0O MHOXKHTEAS: PopMyABbI COKpPaAlllEHHOT0 yMHOxkeHHs (PCY):
1) x*y—-x*=x*@y-1); a’-b*=(a-b)(a+b)

7) 36x2-100=(6x)2 —(10)2 =(6x—10)(6x+10);

2) a®+6a’*+2a=ala’+6a+2); 8) (Bx-y)-4y*=(Bx-y)|-(2yy =

3) aQ(x+y)_3(x+y)=(x+y)(a2_3); =(Sx_y_Qy)(Sx_y+2y):(3x—3y)(3x-'-y);
4) 6(a-2)+a(2-a)= a?+2ab+b?*=(a+b)
=6(a—-2)-ala-2)=(a-2)(6-a); 9) x?>-6x+9=x>-2-3-x+3%=(x-3)

10) a?+4ab+4b*=a*+2-a-2b+(2b)? =(a+2b)?;

Pa3zaAoxkeHHe HA
a’+b® =(a+b)(a®Fab+b?)

MeToA rpynnHupPOBKH: MHOXKHTEAH
5) ac—3bd+ad—-3bc = 11) 27x° -y° =(3x)° —y® =(8x-y)(9x* +3xy +y?);
=(ac-3bc)+(ad -3bd)= 12) 8m®+27=(2m)®+3° = (2m+3)(4m? —-6m+9);

=c(a—-3b)+d(a—3b)=(a—3b)(c+d); & +3a2h+3ab? + bS = (a+b)3

6) 16xy>—-5y%z—-10z°+32xz? = 13) m®-12m?+48m-64=
=(16xy?+32xz?)+(-5y*z-102°)= =m3-3-m?.4+3-m-4%>-43=(m-4)
=16x(y*+22%)-5z(y*+22z2%)= 14) 8n®+12n?+6n+1=
=(y*+22°)(16x-52); =(2n)*+3-(2n)*-1+3-2n-1> +1°3 = (2n+1)°.
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